1 ohe @2 vk 79 27)e AAS 2L

H7]

O VI6==4 © -V0.09 = -0.3
© /(-13)? =13 ® -/(-5)2=-5

06,0 266 006 @Woe 66

@ Vi6= V42 =4

© -V0.00 = —-V0.32 = -0.3
©® /(132 = —(-13) =13
©®-/(-5)?=-{-(-5)} =-5




2. 2<x<5 A =277+ /r-5)7 & XS] slefer

> E

> H™eh: 3

x=2>009]2, x-5<0°|BE2
(%é})=x—2—(x—5)=3




@ Vi1

5 3

@ 2vV3 = V12
@3=19
V7 7
®3 -1
@ V11
7
®\;

g< \/§<3< Vi1 <243




219
257} obdl

of
Nfo

ojn

@ +0.49

B -

O Va+1

@ -

— N




D E F




6. V16.9 x V640 & AAEHH?
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60-2a=0< ], a = Ff
60-2a =36 <L, ax A

60 60 — 36
M—7—30,m— B =

M-2m=30-2x12=6

12
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